il g & SH2EE SHSEE SHAEE SHSEE SH6EE
/N B it 1,949 1,948 1,947 1,947 1,946
BEZEA 0 0 0 0 0
MENE 1,949 1,948 1,947 1,947 1,946
[ it 497 490 484 477 470
BEZEA 23 23 23 22 22
MENE 474 467 461 455 448
= R it 237 237 235 233 231
BEZEA 0 0 0 0 0
MENE 237 237 235 233 231
B & it 300 297 294 291 288
BEZEA 0 0 0 0 0
HENE 300 297 294 291 288
& 1l it 784 768 753 738 723
BEZEA 0 0 0 0 0
HENE 784 768 753 738 723
¥ h it 115 114 112 111 110
BEZEA 0 0 0 0 0
MENE 115 114 112 111 110
= P/ i 68 67 66 66 65
BEZEA 68 67 66 66 65
MENE 0 0 0 0 0
[E3 IR i 81 80 79 78 77
BEZEA 0 0 0 0 0
HENE 81 80 79 78 77
X i i 79 78 77 76 75
BEZEA 79 78 77 76 75
HENE 0 0 0 0 0
H B m ™ 124 123 123 123 123
BEZEA 104 103 103 103 103
HENE 20 20 20 20 20
I H B | 78 76 74 72 70
BEZEA 78 76 74 72 70
MENE 0 0 0 0 0
¥ h T 106 103 100 100 97
BEZEA 106 103 100 100 97
MENE 0 0 0 0 0
e H i) 60 61 61 62 63
BEZEA 60 61 61 62 63
MENE 0 0 0 0
i3 % BT 48 46 43 41 38
BEZEA 48 46 43 41 38
MENE 0 0 0 0 0
R i) 36 36 36 36 37
BEZEA 36 36 36 36 37
MENE 0 0 0 0 0
T = N H B 22 22 22 21 21
BEZEA 22 22 22 21 21
MENE 0 0 0
H g HT 50 50 49 48 48
BEZEA 0 0 0 0 0
MENE 50 50 49 48 48
HAaESRET 20 20 20 19 19
BEZEA 20 20 20 19 19
MENE 0 0 0 0 0
=LEEHREREES 84 83 82 81 81
BEZEA 84 83 82 81 81
HENE 0 0 0 0
TN REFEEHES 261 261 259 258 258
BEZEA 0 0 0 0 0
MENE 261 261 259 258 258
H ] 4999 | 4,960 4916 4878 4,840
BEZEA 728 718 707 699 691
MENE 4271 4242 4,209 4179 4,149




